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. Al = T(&)AX

| =lim 3 1(&)Ax £ (x)dx
;AI ~dl = f(x)dx:

1= f(x)dx = F(b)— F(a).

f(x),9(x) [ab]
D={(x,y)a<x<b, f(x)<y<g(x)
A= [2[g(x) - f(x)]dx

£(x) [a,b] A= j;’ f (x)dx
y X y=X+ 3
7.1 = — = —
2 2
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s
. 23 a=-1b=3
= X+—
\y 2
2
A= (% x+ 5% lgx =10
2 2 3
7.2 a Yy=X-—X° y=ax g
a 9 3
[1 o<a<i [g (x—xz—ax)dx:Z a:1—%<0
9 3
a1l [) . (x—-x"—ax)dx== a=1+-——.
Il—a( ) 4 %/E

{X = X(t) (a<t<p) . X(t), y(t)

y = y(t)
y(t) >0, A= [Fyt)x'(t)dt

7.3 —+— =

y=§\/9—X2, 0<x<3,

A= 4]},%\/9— x2dx = 24[; cos? tdt = 67
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x =3cost, y=2sint, Osts%

A= 40 ydx =4[ y(t)dx(t) = 4[> 2sint(=3sint)dt =67
2 2
3.

D X=pC0S@,Y=pSing
D={(xya<p<B0<p<plo)

1
A=I§§p2(¢)d¢

7.4 r=a(l+cosp) (a>0)

l T T
A= 71 (p)de = [r¥(p)de

=4a*[; cos* %dgp —8a’ ], cos* tdt = gnaz 75

y=aJx a>0 y=Invx  (Xg,Y,)
6 a
@ X

1 1
(11 aszT):Zxo ax, =Inx, a

e—l

e 1
@)

A=[& av/xdx— ¢ In+/xdx
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7.1.2

D={(x,y))a<x<b0<y<f(x)} x
V, =[Pz f*(x)dx

2.y

D={(x,y)a<x<b0<y< f(x)
y V, = J22xz f(x)dx
7.7 y=+2-X%,y=~/X Yy Xy

2

LV, = jé;z[(z —X?) - x]dx =7

V, = jéZ;z(x/Z - X’ —&)dx = 20f125— “

7.8 a<l y=ax y=X° S,

x=1 82

1 a Sl+82

2 X

[]1 Aizjg‘(ax—xz)dx%a3
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1§l ) = OC) Tk~ () — ()2

J2+1
30
7.9 y=Inx, (2<x<6)

X=2,X=6

T

[ ] Xo

y:—E(x—xQ+4nx0
0

X=2,X=06
(X 4 Inx, ~1)dx= 18 + 4(Inx, —1)
XO XO
1
X, =4 y==-X-1+In4
4
7.10 (1,0) y=+/X—-2 X
A
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1 (Xov yo) y" X=X,

1
yzzm(x—xo)h/xo—Z

(1,0) Xo =3

Y= (x-1
A=JA(y? +2)— 2y +D]dy =§

2 V, = ﬂjf[%(x—l)]zdx—ﬂjg(«/x— 2)% dx

7.1.3

1. y="1(x), as<x<b
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| = PP1+[f(x)]Pdx

X=X(),y=y{t), atp
= (W IXOT ++y ®)] dt

3.

p=plp) a<p<p

| = 12\ p? () ++p' (9)[ o

7.11

r=a(l+cosp) (a>0)

| = a2 (1+cos @) +(=sinp)’dg

=a[” \/2+2cospdp

=2aj; 2 coszdgo 8ajozcostdt 8a
7.1.4
1. y="1f(x), as<x<b x

A= 27" f ()1+[F'(x) ] dx

X=X(t),y=ylt), at<f X
A= 277 y(Oy[X T ++y' (O c
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y=+X-1,

¢ (2,1)

(21).

A =277y 1+ y'?dx
—27zj21 \Zfdx 5

= [*\J4x - 3dx = %(5\@—1)

A=A +A, =%(11£—1)

7. 13
X =a(t—sint
( )(OStSZﬂ',a>O)
y = a(l-cost)
1 X
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2 y
1

z[¢"a®(1—cost)*a(l—cost)dt
= 7a° [" (1-3cost + 3cost” —cos® t)dt
-57°a’

277y (x')? +(y') dt
=275y (x)* +(y') dt

87" sin’ %dt

= -16a[." (1-cos —)d(cos )—% :

2y

z[e7a®(t—sint)*asintdt-67°a’

27[7 X/ (x')? + (') it
2xffa(t —sint)y/2 — 2costdt-167°a”

f(X)’ g(X) [a,b]
= {(X, Y)\a < Xx<Dh, f(X) <y< g(X)}
1.0, 2
X = I;’x[g(x) — f (X)]dX g = 2Ia [g (X) — f (X)]dx

1Pla(x) - f (x)]dx
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1
~ 5 (R? = x?)dx 4
X=0.y=2 = R.
17ZR2 372-
2

7. 15 D

y=px°’(y>0,P>0  (Lp)
» (X,Y) 1+ X

., p Dy V,=——7x

[1 1 y’\X:1=3px2 =3p

x=1

y=p+3p(x-1)
X (%,O),
1 1
A=[pxPdx—=p=—
JoP 6p lZp

M, =] px° -xdx—j;[p+3p(x—l)]xdx
3

1
=§p—I%(3px2—2px)dx
1 8 4 7
=—p-1-—-1+)p=—
5P =5 9)Io 135
84 _28

135 45
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2
1 2 y/é
2 Vy = 5”[113p _(g)z 'ZP]_ﬂjop—z/dy

p3
2
1 2 7
=t -3p- ()7 -2p]- 7if ¥, dy
3 3 0’3
1 2., 37z 14
= =21t -3p— (£ Oy T
377[ p (3) Pl =137 P
4 o1 p_z
135 35 2
V, =27 XA = or 2t 1
135 12
4 71
135 35 2
2.
dp = gh-dA

7.16

dx\ f
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: y . X
dp =2x+R* —x°dx, R

p =5 2x\/R? —xzdx:gR3

2.
7.17 L M
a P m
{3 >
O | ;
[x, x+dx] . P
_ m 2.Md
(I+a-x)° L
Folig " Max= 9T
(I+a—-x)° L a(l +a)
3.
1
2
7. 18 R
( 1).

x*+(y—R)* =R?
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A

y
2R

/ AN
>
(0]
Ay , dF = 7z x°dy.

(2R-y)

dW =z x*(2R - y)dy .

\N=ﬂﬁﬁw“%%4%ﬂQR—ymy=%ﬂR4

7.19 10m
3
10m, 8m 480kg/ M ™,
y=2x 'y
y h
10
8
10—y
J. Ldy
T.
0 2 4
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dv = % y“dy

2
dm =480- n(gj dy
(10-y)

2

dw = 480(10 — y)ﬂ% dy

2

w = [480(10 y)n% dy

=1207[c(10y* — y*)dy = 81927 (kgm)

7.3
720 X4y <2X Y= X X =2
V

1

X =1- 1_y2’X2 =Y

X>+y°=2x [x=1 , 2
v =X = y=1 dv=[7r(2-x)" —7(2—-x,)"]dy

= 7[(1+1-y*)* - (2-y)*1dy
V =[odv =z[g[(Q+1-y*)’ —(2—y)2]dy=%2—§7r
2 Y, =X, Y, =V2X-X°
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dv =27(2-X)(y, — y,)dx = 27(2 — X)(~/2Xx — X* — X)dx

2
V =[gdv=27[3(2—X)(N2Xx - X* —x)dx:%—gn

a £(x) [ab] (X,Y)
D={(x,y)eR*|a<x<b 0<y<f(x)}
X>a+b
2

b
X a xf(x)dx> a+b

[0 f(x)dx 2

| =" xf(x)dx—aT”’jg f(x)dx > 0. ,
b F(X) F(x)>0
a+b
1 a+b
2
£ (%)
2 3
LOFO =X tFdt = 2 £ ()t
F(a)=0

F/(x) = xf (x) = S

f(x)—%jg f (t)dt

1 1
St --Te)x-a)
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- (x=a)(f()- £(&))
fe(a,x) f(x) F(x)>0 x

b @

2 1

b a+b _ a0 a+h
| =], (x—7)f(x)dx—jaz (x 5 )f(x)dx

+[, (x—a%bjf(x)dx

1, f(x)

a+b a+b

0< f(x)< f(?j X—T<O.

a+b
l,>[,2 (x—aerjf(aerjdx. 2
2 2
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f(x)

a+b a+b __1 2
= F )5 (x—7jdx— Lb-2)7 (&)

b a+b __1 RY:
= 1L (x— 2 jdx— Lo-a) ()

gl(a’a%bj G, € (aT—'_b’bj

62 > 51
f(x)
(&)= (&)

=1+ 1= b= (1(&) - ()20
722 K>0, y=kx2

y=ﬂn4@£xsgj

x={b<t<§j .S, y=kx* y=sinx
SZ

y:ﬁnxy:ﬁntx:%
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T
. S() =S, +8, (O’Ej

2

y=kx* y=sinx (t,sint) .sint = kt?

Slzjg(sinx—wxzjc
S, = j:zz(sin X—sint)dx = cost—(%—tjsint

2., ). T
S(t)=1+| —t—— |sint 0,—

3 2 2
5(0)=1,s(§)=1—5>o_

2 6
S'(t) = gsint ~” cost +gtcost

3 2 3

$'(0)=-" <0, S’(zj:g>0
2 2) 3
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Tt e (o,%), S'(t,) = 0.

S”(t)=ﬂcost+(£—gtj5int>O, te( jS(t)
3 2 3

ty

723 S(X) S(x) = IS‘COSt‘dt,

1 n , hz<x<(n+Drx
2N < S(x) <2(n+1).
2 lim —= S(X)

X—>+00 X

1 jcosx 20 nz<x<(n+lz  S(x)
Jo7|cost[dt < S(x) < [§"V" |cost|dt
cosx =  [o7|cost/dt=n[g|cost/dt =2n
"% cost|dt = (n+1)fjcost|dt = 2(n+1)
2n < S(x) < (n+1)
2 Nz <x<(n+Dx
2N S(x) 2(n +1)

(n +1)7z X Nz
n— oo
lim S(x) = 2
X—>+00 X /4
e T(X) [a,b] (a,b) f'(x)>0

(a,b)
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¢ y="1(x) y=1(5) x=a Sy
y=1(x) y=1(5) x=b Sy 3.
[ 1 (a,b) t
S, =S, (t) = [L(f (1) - f (x))dx
S, =S,(t) = P (f(x)— f (t))dx
F(t) =S, (t) —3S,(t) = L(f (1)~ f(x))dx~
317 ((x) - f(t))dx
F(t) (ab) £e(ab), F(&)=0
f'(x)>0 f(t) (a,b)
F@@<0 FO)=2(f)-f(Xx)dx>0 rp (ab)

f'(x)>0 F(t) (a,b)
F't)y=f{t)+({t-a)f'(t)-
f(t)—3(b—t)f(x)+3(b-t)f(t)
=(t—a)f'(t)+3(b-0[f (1) - F(x)]
=t-a)f'(t)+3(b-t)f'(&)>0
Ee(t,X) F(t) (a,b)
F(t) (ab) ge(@b), F(5)=0
7.25 y=Inx, (2<x<6)
X=2,X=6

y=Inx (Xy,INnX%,)

| 1
y=Inx, +—(X—X,)
XO
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y=Inx (X,,InX,) X=2,X=6

S(X,) = l2[In X, +i(x—x0)— In x]dx

=4In xO+E—6In6+2In2
XO

S'(X,)=0 x,=4
S(2)=4In2+8-6In6+2In2,
S(4)=8In2+4-6In6+2In2,

S(6):4In6+%—6ln6+2ln2,

S(4) y:In4+%(x—4).

7.26 |

a+ka=I y = kX.
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ka .
: - P(K)
xdy
ka—vy
dP(k) = x(ka — y)dy = k* (ax — x*)dx
k?a’ k?l°
P(k) =k*[3(ax —x?)dx = _
(k) Jol( ) 6 bkt
L2y3
P’(k):(2k K )4'
6(k +1)
k=2 P'(k)
21°
P2)=2"
© @)= 41
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